
 
i. 5

0 

 
 e

.50
 

 
i. 

32
 

 300 

Medium silencer 
NERO Ø50 
Cod.3014009471

Allen screw M8x30 
Cod.200363 

Aluminium spacer
SBK d.27X8.5
Cod.204321

Short helical spring
tensile
Cod.204387

Short tube in
silicon rubber
Cod.204412

Plain washer Ø8 x Ø24
Cod.200321

Cap n.57 
Cod.308078803

Allen screw  M10x1.25x65 Z.B.
cod. 206719

Aluminium spacer 
40x25x25
Cod.3014011501

Collettore n° 1064
cod. 3014023201

Busher 32X28.2X30 LGR/F D117/08
Cod.205332

Strap in stainless steel Ø35
Cod.300035530

N° 2 Allen screw
M10x1.25x50 Z.B.
cod.205316

N° 2 Aluminium spacer 
(to cover holes of
original frame)

25 h12.5 x 10.5
cod.206272

Original frame fitting

Rubber cap
Cod.204790

.Grower Ø5 cod.202286

.Screw M5x8 T.C.E.I 
 cod.204213

DB-Killer N°32B
Cod.307762801

YAMAHA X-MAX125 ('06/'15)  /  X-CITY125 ('08/'15) 

Slip-on LEOVINCE "NERO" <<MEDIO>>
Passaggio STANDARD OMOLOGATO "EVOLUTION II"

Art. 14023


	Foglio1
	Vista del disegno3
	Vista del disegno5


